
 
 

  
 

 
 
 

 

HL3.1b Answers to mental maths questions (money) 
 

1. £180 - £25 = £55 
 

2. £9.50 x 3 = £28.50 
 

3. Two pies cost £10.00, £10.00 ÷ 5 = £2.00 
 

4. £29.99 - £4.99 = £25 
 

5.  £20.00 ÷ £2.50 = 8 weeks 
 

6. 8 x 5 = 40 dripping cakes 
 

7. (50p x 2) + (80p x 2) + (£1.00 x 4) = £6.60 
 

8. 2000 x £1.20 = £2400  
 

9. £5.00 ÷ 10 = 50p per cake, 500 cakes a week x 4 weeks = 2000 cakes, 

2000 cakes x 50p a cake = £1000 
 

10. (3 x £20) + (4 x £25) + (4 x £30) + (4 x £40) = £440, £440 x week 

(7 days) = £3080 


